NPPON
geor i

CWG Series Worm Gear Valve Actuators

S ERI ES

&

&R ©F

e UK:AIS = AHAGEMEN
tortox MERG | |~ MEEES

150 9001:2015 IS0 14001:2015
Only for Fujisawa Factory




-‘L«

5
Economlcal

and Compact
Worm Gear Reducer
1

Econom




FEATURES

Double-sleeve structure,
allowing easy change of the
key position to the
position of the valve stem

Flexible choices regarding P47 rated dustoroof and The stopper located on
the position, and rotational rated dustproot an both ends of the travel

o . waterproof functions.
direction of the input shaft. aterprootfunctions

allows +5 degrees adjustment.

The CWG series are worm gear reducers developed

for manual operation of various devices,

including butterfly valves and ball valves that require 90-degree rotation.

They are economical worm gear reducers, having a compact design for

water supply and sewage systems as well as steel and other general industries.

CWG series can be electrically operated by combining it with our Motorized actuators.

SPECIFICATION

Max. output torque: Mechanical ratio : Max. input torque : Rotation speed : lat vaie stem dameter: Mounting flange

e/ Gear ratio : N-m (gear ratio x efficiency) N-m rev : mm (1ISO 5211)
cwe-00 ST o el o EEE oo B
cwe-10 S e 290 0 s om0
CWG-20 Mh::::]zsd ]428(;] 2,800 ;i; ]88]? ;38 60 F16
cwe-30 TR O, esw 20 TRY we B e
owe-35 S o 8% 0L lee as %
CWeE-40 Mn::::]zc:d 45266:11 10400 1107;5 ?g: 1];5?0 95 Fes
CWeE-50 Ml\::]l:li.lz(:d 4650(;:11 15900 1]o8é.78 ?ii:; 1]15é(.35 s F30
CWEG-60 Mn::::;zc:d 76;;:11 92,800 1]896.85 ]178012..77 1]96é.C)o 140 F35
CWG-70  Moforized 66:1 51,100 20.4 2504.9 165 210 F40
CWG-80  Moforized 66:1 105,000 23.0 4565.2 165 280 F48



DRAWING

CWG-00~35

Manual >
Operation
Stopper bolt "
Position indicator
Handwheel (option)
<
ac

H3

M8x1.25 Depth 20

H2

H1

il

~
9
39
So
N3 0
~ 29
Q| = 0.2
O
N
iR
Ty V¥
¥ I
~
<
3
3
oS
o
o
Ny
©

( *1 )
Type Mounting flange dimensions(mm) External dimensions (mm) Weight| Grease
/Size. so o1 | b2 DD D3 |E| M1 | H2 | H3 |Ha ] k1 | k2 |01 ]2 v w2 wms| && | &e

CWG-00 | F12 | 85f8 | 125 |M12x1.75Depth 18| 165 69.5 |214.5| 825 [ 21.1 | 865 | 43 | 86 | 126 15 0.5

40 | 125 | 89
CWG-10 | F14 [100f8| 140 |M16x2Depth24| 190 | 2 | 82.5 | 240 | 95 | 26 | 96 | 53 | 95 | 135 18 0.7
CWG-20 220 97 |2845] 110 | 258 |1135] 61 | 108 | 164 29 1.1
F16 |130f8| 165 |M20x2.5 Depth 30
CWG-30 250 112 [3145( 125 | 268 | 121 | 64 | 118 | 174 | 50 | 155 | 121 37 15
3
CWG-35 | F20 [160f8| 205 |M16x2 Depth 24| 245 127 | 342 (1375|145 | 127 | 63 | 125 | 192 41 2.0

# Handwheel Excluded =2 Reference Value

[Handwheel]
Dimensions ) ]
SiE (mm) |Weight
R X (ke)
12” 308 | 92 4
18” 460 | 97 10
24” 610 | 100 13




DRAWING

CWG-40~60

Manual )
Operation
Stopper bolt 1
Position indicator _E
Handwheel (option)
}l‘ |
L o
=3

Input shaft details

Flange surface

~

~ 1
Type Mounting flange dimensions (mm) External dimensions (mm) Weight|Grease| Plug
/828 5o D1 [p2| DD | D3 |E|HI | H2 | H3 [Ha] KI | K2 | U1 ] 12 | M1 | M2 | ma | ma | K& | k&) | PP

CWG-40 | F25 |200f8| 254 [M16X2Depth 24| 300 153 |417.5162.5{20.7 | 146 | 73 | 155|307 | 50 | 204 [31.8 | 121 74 35 R1/4

CWG-50 | F30 |230f8| 298 [M20X25Depth30| 350 | 3 | 180 |469.5|187.5|27.5 | 154 | 78 | 165 | 317 | 50 | 204 |[58.8 | 121 96 43 | R1/2

J

CWG-60 | F35 |260f8| 356 |M30x35Depth45 | 420 230 | 621 |2385/50.8 | 196 | 107 | 217 |410.5] 50 | 305 [60.8 | 131 | 185 9.7 | R3/4

#1 Excluding handwheel =2 Reference Value

[Handwheel]

Dimensions . ]
Siize (mm) | Weight
R | x (ke)
12” 308 | 92 4
18” 460 | 97 10
24” 610 | 100 13




DRAWING

CWG-00~80

< Motorized
Operation

Grease plug: PP

CWG-00~30 Flange surface

= i

H2

L

2

Stopper bolt

N
o
Position indicator %:k A

Input shaft details

P5

CWG-35~70 Flange surface

P3_ &
N

CWG-80 Flange surface

Type Mounting flange dimensions (mm) Input dimensions (mm) External dimensions(mm) ]
/Size | 50| D1 | D2 DD D3 |E| P1 | P2 P3 P4 | P5 |P6| H1 | H2 | H3 | H4™| k1 | K2 | L1 | L2
CWG-00 | F12 | 85f8 | 125 |M12¢1.75 Depth 18| 165 695 | 192 | 825 [ 211|865 | 43 | 86 | 142
CWG-10 | F14 |100f8| 140 |M16x2 Depth24) 190 | 2 |20e7| 6h9 | 225 9,, 40 82512175 95 | 26 | 96 | 53 | 95 | 151
CWG-20 220 45 70 31 97 | 257 | 110 | 258 [1135| 61 | 108 | 187
F16 |130f8] 165 [M20x2.
CWG-30 25 Depth 301 5 1 | 2567 280, | 40 112 | 287 | 125 | 268 | 121 | 64 | 118 | 197
CWG-35 | F20 |160f8| 205 [M16x2 Depth 24| 245 30e7| &° 339, | 50 | 80 127 319.5(137.5| 145 | 127 | 63 | 125 | 202
CWG-40 | F25 |200f8| 254 [M16x2 Depth 24| 300 35¢7[10h9| 389, | 56 153 |3855(1625| 207 | 146 | 73 | 155 | 251
CWG-50 | F30 |230f8] 208 M20x25Depth 30| 350 | 3 [40e7[12n9] 43.%,, | 63 | © | * | 180 [4375]1875] 275 | 154 | 78 | 165 | 261
CWG-60 | F35 |260f8| 356 [M30x35Depth 45| 420 , 80 | 105 230 |558.5/238.5| 508 | 196 | 107 | 217 | 347
52¢7[16h9| 56
CWG-70 | F40 |300f8| 406 | M36x4 Depth 54 | 565 %% 1 90 | 130 | 5| 326 | 776 | 340 | 7 | 246 | 120 | 279 | 451
CWG-80 | F48 |370f8| 483 | M36x4 Depth54 | 700 657 [18h9| 69 9, | 130 | 185 | |448.5(10235| 465 | 10 | 286 | 138 | 354 | 526
p — S
Type | Weight| Motorized unit | Grease | Plug [Motorized Unit Mounting Flange]
/Size (kg) | type/size (kg) | PP _ \
Type Flange dimensions (mm) Weight
CWG-00| 10 | JMB-04~03 | 05 -
cw /Size N N2 | N3 | Na | N5 | N | (ke)
G-10| 13 | IJMB-04~00 | 07
JMB-04
CWG-20| 21 | JMB-04~00 | 1.1 |R1/8 70H8 | 125 | 102 | 11 14| 2
JMB-03 5
CWG-30| 29 | JMB-03~0 | 15
JMB-00 952H8 | 175 1397 17 5
CWG-35| 33 | JMB-00~1 20 18
JMB-0 127H8 | 210 [165.1| 22 7
CWG-40| 56 | JMB-00~1 35 | RI/4
JMB-1 1524H8 | 289 | 254 | 17 | 15
CWG-50| 78 JMB-0~2 43 | R1/2
JMB-2 177.81H8 | 343 |2985| 22 | ©® 5; 23
CWG-60 | 147 | IMB-1~3 97 (28)
JMB-3 21591H8 | 406 |3556| 26 29
CWG-70 | 350 IMB-1~3 24 | R3/4 | = i i
- EX§|Ud'n9MOt°f;'ZEd JMB-4 | 22861H8 | 476 [4064| 33 | 12 | 28 | 51
CWG-80| 830 | IMB34 36 unit mounting flange ‘ J
L J #2 Reference Value The dimensions in ( ) are for CWG-70 only.



CWG-00~35

Manual )
Operation

Do

In case of CWG-35

[ No Part name Np%gf Remarks | [ No. Part name ’\é%gf Remarks No. Part name Np%gf Remarks

1 | Housing 1 16 | Seal washer 2 29 | Ball bearing 1

2 | O-ring 2 16 | Hexagonal nut 2 30 | Collar 1

3 | Thrust washer 2 17 | Stop bolt 2 31 | Ball bearing 1

4 | Worm wheel 1 18 | Stem bush 1 32 | Snapring 1

5 | Worm body 1 | CWG-35only 19 | Fixed spring 1 33 | End cap 1

6 | Reamer bolt 7 | CWG-35only 20 | Plug 1 34 | O-ring 1

7 21 | Dial 1 35 | Plug 1

8 | Taperroller bearing 2 22 | Housing 1 36 | Stem cap 1

9 | Frontcap 1 23 | Thrust ball bearing 1 37 | O-ring 1

10 | O-ring 2 24 | Thrust ball bearing 1 38 | Worm shaft 1

11 | O-ring 1 25 | Bevel gear 1 39 | Key 1

12 | Cover 1 26 | Sleeve 1 40 | Key 1

13 | O-ring 1 27 | Base 1 41 | Handwheel 1 | Option
| 14 | Indicator plate 1 ] 1 28 | Bevel pinion 1




CWG-20~60

Manual >
Operation

46)(45)(27 )(24)(39 )(23

51

434748534954 10)(20)(12)(5 )(6 )(4 )(3 )(2)(1
View A
(Gear mechanism)
[ No. Part name Np%gf Note [ No. Part name Np%gf Note [ No. Part name l\éocgf Note

1 | Housing 1 19 | Fixed spring 1 38 | Helical pinion 1
2 | 0uring CWG-40,50 20 | Plug 1 39 | Key 1

3 | CWG-60 21 | Dial 1 40 | Key 1
3 | Thrust washer 2 22 | Housing 1 41 | Handwheel 1 | Option
4 | Worm wheel 1 23 | Thrust ball bearing 1 42 | Worm shaft 1
5 | Worm body 1 24 | Thrust ball bearing 1 43 | Support housing 1
6 | Reamer bolt 7 25 | Bevel gear 1 44 | Ball bearing 1
7 | Ball bearing 2 26 | Sleeve 1 25 Bush 4 | CWG-40,50
8 | Taperroller bearing 2 27 | Base 1 Ball bearing 4 | CWG-60
9 | Frontcap 1 28 | Bevel pinion 1 46 | Idle gear 2
10 | O-ring 2 29 | Ball bearing 1 47 | Key 2
11 | O-ring 1 30 | Collar 1 48 | Helical gear 1
12 | Cover 1 31 | Ball bearing 1 49 | Snapring 1
13 | Gasket 1 32 | Snapring 1 50 | Ball bearing 2
14 | Indicator plate 1 33 | End cap 1 51 | Ball bearing 1
15 | Seal washer 2 34 | O-ring 1 52 | Oil seal 1
16 | Hexagonal nut 2 35 | Plug 1 53 | Support cover 1
17 | Stop bolt 2 36 | Stem cap 1 54 | Plug 1
18 | Stem bush 1 37 | O-ring 1




RAL DRAW

CWG-00~35

( Motorized
Operation

>e

In case of CWG-35

[ No Part name Np%gf Note | [No. Part name "g’cgf Note | [nNo. Part name Np%gf Note |
1 | Housing 1 10 | O-ring 2 19 | Fixed spring 1
2 | O-ring 2 11 | O-ring 1 20 | Plug 1
3 | Thrustwasher 2 12 | Cover 1 21 | Dial 1
4 | Worm wheel 1 13 | O-ring 1 60 | Worm shaft 1
5 | Worm body 1 |CWG-35only 14 | Indicator plate 1 61 | Mounting adapter 1
6 | Reamer bolt 7 | CWG-35only 15 | Seal washer 2 62 | Oil seal 1
7 16 | Hexagonal nut 2 | 63 | Key 1
8 | Taperroller bearing 2 17 | Stop bolt 2
| 9 | Frontcap 1 ) 18 | Stem bush 1




CWG-20~80

< Motorized
(0]

peration

N

10) (20) (12) (5) (& 3 1
[ No Part name Noofl  Note [ No Part name Noofl  Note No Part name Noofl  Note
b ncs b ncs 2 pcs
1 | Housing 1 8 | Taperroller bearing 2 17 | Stop bolt 2
CWG-40,50 9 | Frontcap 1 18 | Stem bush 1
2 | O-ring
3 | CWG-60,70,80 10 | O-ring 2 19 | Fixed spring 1
3 | Thrust washer 2 11 | O-ring 1 20 | Plug 1
4 | Worm wheel 1 12 | Cover 1 21 | Dial 1
5 | Worm body 1 13 | Gasket 1 60 | Worm shaft 1
7 | CWG-40~60 14 | Indicator plate 1 61 | Mounting adapter 1
6 | Reamer bolt
13 | CWG-70, 80 15 | Seal washer 2 62 | Oil seal 1
7 | Ball bearing 2 16 | Hexagonal nut 2 63 | Key 1




BIAVASNSeRN®] | DR AWING OF STEM END

Worm wheel
Spline
M1
0 Sugaaly Lo s
o] e———— I —t e R T
' —_——- 1 H 1 ___..,] r___
<1 3 1 |z . e —
} : - B ' ‘ Y
: | N . | 1| E
| | 3 Mounting | | | I | ! [
_____ ———— surface f
 — T
777 z
. ' =N
Fixed spring f
Stem bush blank
.CWG-OO"’ZO (Material:545C) .CWG-30, 35 only
Worm body o
Fixed spring
i ' 1]
i i |
| | | -
| |
< i i I
— | I
| i
! i
1
| : !
Y | J‘ ol Mounting |
“ ’ dlk——'— ———————— 4 - S surface
7 z i . 777777
H M1
Stem bush blank
@®CWG-40~80 (Material: S45C)
@Arrows (4 - §) indicate the stem bush inserting directions.  @After inserting the stem bush, make sure to attach the fixed spring.

Type A B c D OF oF | oc | oH Stem bush Max. stem diamster
CWG-00| 865 6.6 289 | 169 44 41 30 - 45 22 529 48 - - 36(10%8)
CWG-10| 9% 8 27 15 57 54 42 - 55 27 66 61 - - 46(14%9)
CWG-20 | 1135 85 34 21 73 64 54 - 65 32 82 77 - - 60(18X11)
CWG-30 | 121 9 30 - - 86 74 - 75 37 98 93 - - 75(20%12)
CWG-35| 127 8 33 - - 95 86 - 80 35 106 100 - - 80(22x14)
CWG-40| 146 22 S S - - - 110 95 48 1206 | 1155 - - 95(25%14)
CWG-50 | 154 23 - - - - - 134 15 58 146 141 - - [115(32x18)
CWG-60| 1% | 30 - - - - - 162 | 140 70 178 | 173 | 152 | 5e'{s |140(36%20)
CWG-70 | 245 25 - - - - - 245 190 95 2725 | 265 240 “1210(50%28)
CWG-80| 286 25 - - - - - 322 240 120 351 342 309 |“phnte [780(63%32)




NPPON
gear ks

I Headquarters

2F, Keihanshin Toranomon building, 1-7-14, Nishi-Shinbashi,

Minato-ku, Tokyo, 105-0003, Japan
TEL : +81-3-6363-3165 FAX: +81-3-6363-3168

I Factory

7 Kiriharacho, Fujisawa-shi, Kanagawa 252-0811, Japan
TEL : +81-466-45-2111 FAX: +81-466-45-3370

HP

http://www.nippon-gear.jp/english/

BULLETIN L-316A1

211200(SS)




